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SECTION-A

A5 0 0 0 0 0

i) General Awareness

is the home State of

Prime Minister Narendra Modi.
(A) Guijarat

(B) Haryana

(C) Rajasthan

(D) Uttar Pradesh

From October 31, 2019, India has

number of States.
(A) 28
(B) 29
(C) 27
(D) 26

Abu Bakr Al-Baghdadi was the leader
of which group ?

(A) Islamic State
(B) Hamas

(C) Taliban

(D) Hezbollah

The President of india is
(A) Venkaiah Naidu

(B) Pranab Mukherjee
(C) Ram Nath Kovind
(D) Amit Shah

5.

The expansion of JNU is

(A) Jamiah National University
(B) Jawaharlal Nehru University
(C) Jawaharlal National University

(D) None of these

is the capital of China.

(A) Kathmandu
(B) Lhasa
(C) Okhinawa

(D) Beijing

Name the smallest State in India.
(A) Tripura

(B) Mizoram

(C) Goa

(D) None of these

Name the smallest Country in the

World.

(A) Monaco
(B) Vatican City
(C) Nauru

(D) Tuvalu
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9.

10.

11.

12.

The Kargil conflict was between which

countries ?

(A) Pakistan and Bangladesh
(B) India and Sri Lanka

(C) India and Bangladesh

(D) Pakistan and India

India lost the War of 1962 to
(A) Pakistan

(B) China

(C) SriLanka

(D) Britain

The Paris Agreement is related to
(A) Natural Disaster

(B) Nuclear Bomb Testing

(C) Climate Change

(D) Human Rights

The National Bird of India is
(A) Peacock

(B) Parrot

(C) Pigeon

(D) Sparrow

13.

14.

15.

16.

The book ‘India After Gandhi’ was

written by

(A) Jawaharlal Nehru
(B) Romila Thapar
(C) Granville Austen

(D) Ramachandra Guha

Economics Noble Laureate Abhijit
Banerjee belongs to which State of India ?
(A) West Bengal

(B) Orissa

(C) Assam

(D) Bihar

Donald Trump is the President of
(A) United Kingdom

(B) France
(C) United States of America

(D) Canada

Mohammad Bin Salman is the Crown
Prince of Which Country ?

(A) Saudi Arabia
(B) UAE
(C) Oman
(D) Qatar
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17.

18.

19.

20.

Indira Gandhi is the daughter of
(A) Mahatma Gandhi

(B) Moatilal Nehru

(C) Feroze Gandhi

(D) Jawaharlal Nehru

Maruti Suzuki is a collaboration between

which of these countries ?
(A) USA - India

(B) China — India

(C) Japan — India

(D) South Korea — India

Name the present CM of Kerala.
(A) Oomen Chandy
(B) Achuthanandhan
(C) Pinarayi Vijayan

(D) A. K. Antony

Name the CEO of Microsoft who is an

Indian.

(A) Sundar Pichchai
(B) Mukesh Ambani
(C) Indira Banerjee

(D) Satya Nadella

21.

22.

23.

24,

0000 O 0 0

Tipu Sultan belonged to which State in
India ?

(A) Kerala

(B) Telangana
(C) Karnataka
(D) Maharashtra

Which was the last colonial power to
leave Indian in 1961 ?

(A) Dutch
(B) French
(C) Portuguese
(D) English

Dal Lake is located in which Union

Territory of India ?
(A) Lakshadweep
(B) Ladakh

(C) Pondicherry

(D) Jammu and Kashmir

Sri Krishnadevaraya was a ruler of
which Kingdom ?

(A) Pallava

(B) Vijayanagara

(C) Satavahana

(D) Wodeyar
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20.

sfeamiefi 0 HphE
(A) wTeHT el

(B) HidieATa e

(C) Toriist miiefi

(D) TR 5%
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(A) FTET-9RA

(B) HH-vra

(C) STIH-A
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(A) I9E

(B) T

(C) Tommwdt farsram
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(A) g for=a

(B) T SFaA
(C) s st
(D) g Ase

21.

22.

23.

24,
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foq goam s % o T & waifte o ?
(A) F

(B) d&HT

(C) FAeH

(D) wERTS

1961 H YR I B Irel Ffem Iqfasi
vifga -t off ?

(A) ==
(B) WrETEl

(C) geTredt
(D)

<o 3 9ra % fre Feafem wewr | fedm
?7?

(A) w&EY

(B) ©&rE

(C) wifer

(D) ST 3R e

ot FeoraT e ATy % e o 7
(A) Tgd

(B) A==

(C) Hraare

(D) =T
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25.

286.

27.

28.

Hyderabad is the capital city of which
Indian State ?

(A) Telangana
(B) Karnataka
(C) Madhya Pradesh
(D) Jharkhand

Name the present CM of Madhya
Pradesh.

(A) Jai Ram Thakur
(B) B.S. Yediyurappa
(C) Kamal Nath

(D) None of these

Kalaripayattu belongs to which Indian
State ?

(A) Kerala

(B) Tamil Nadu

(C) Karnataka

(D) Andhra Pradesh

Osama Bin Laden belongs to which
terrorist organisation ?

(A) ISIS

(B) Taliban

(C) Al-Qaeda

(D) Indian Mujahideen

29.

30.

31.

32.

1000 0O O O 0 0

Advaita philosophy was founded by
(A) Adi Shankara

(B) Madhavacharya

(C) Ramanujacharya

(D) Sachitananda

How many Thirthankaras are there in

Jainism ?
(A) 21
(B) 22
(C) 24
(D) 23

Xi Jinping is the President of which
Country ?

(A) Japan
(B) China
(C) South Korea
(D) North Korea

Brihadeswara Temple is built by
(A) Cheras
(B) Pandyas
(C) Cholas

(D) Pallavas
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25.

26.

27.

28.

FeTrTe e o oy T B Tear R 7
(A) e

(B) FAleH

(C) wed y_w

(D) IEE

SEq HeA WS o qEIH] 1 AT SET |
(A) T TH BT

(B) ft.ug. Afegwm

(C) FHuel A1

(D) 9 & i3 78

SHETRITATE fohe Tt 1 & Heiferd @ 7
(A) &

(B) dHerTg

(C) FHeiieeh

(D) Y WS

raT fom o 5 saeward) gee o
T 8 ?

(A) STTETESTETH

(B) wiferam

(C) SATEI—HrIat

(D) 3feaa genfed

29.

30.

31.

32.
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375 29 F WO 2
(A) 3TfE viwt
(B) ArEaERE

(C) THHSTER
(D) wif=aame

3 end 3 foem diefar € 7
(A) 21
(B) 22
(C) 24

(D) 23

ft formfi for 3w 3 agufa & 7
(A) STIH

(B) ==

(C) afeqm =wifen

(D) I FHfEn

FETR R g A M |
(A) =R

(B) WA

(C) =

(D) He=id
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33.

36.

The original name of Badami in
Karnataka was

(A) Halebidu
(B) Hampi
(C) Belur
(D) Vatapi

Who was the King of the Princely State
of Mysore when it joined the Indian
Union ?

(A) Krishna Wodeyar

(B) Raja Raja Wodeyar

(C) Jayachamarajendra Wodeyar

(D) Chamaraja Wodeyar

When is World Population Day ?
(A) June 22

(B) July 21

(C) June 10

(D) July 11

Dr. Rajkumar was a doyen of which film
industry ?

(A) Kollywood

(B) Sandalwood

(C) Tollywood

(D) Bollywood

37.

39.

40.

PIB is the abbreviation of

(A) Press Information Bureau
(B) Public Information Bureau
(C) Press Information Business

(D) Public Information Business

Name the Present Prime Minister of
Sri Lanka.

(A) Ranil Wickremesinghe
(B) Mahinda Rajapaksa
(C) Maithripala Sirisena

(D) Sajith Premadasa

Who is the 47" Chief Justice of India ?

(A) S. A. Bobde

(B) Ranjan Gogoi

(C) Chellameshwar

(D) T.S. Thakur

Who is the current Chairman of State
Bank of India ?

(A) Arundhati Bhattacharya

(B) Chandha Kochar

(C) Urjit Patel

(D) Rajnish Kumar
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(A) ey
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(A) S22

(B) e 21
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(A) S ST T

(B) Ufeerh $HHYH =R
(C) & sHEYH fosmg
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(A) Tl fasrmfae

(B) wfear Tema

(C) Frfture fadran

(D) wifora SmmeTa
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41.

42,

43.

45.

-42-

i) General Intelligence and Reasoning Ability

Complete the following series :
80, 10, 70, 15, 60, ?

(A) 20 B) 25
(C) 30 (D) 50

‘Sink’ is related to ‘Float’ in the same
way as ‘Destroy’ is related to

(A) Demolish (B) Alive
(C) Peace (D) Create

‘Doctor’ is related to ‘Stethoscope’ in
the same way as ‘Painter’ is related to

(A) Painting (B) Brush
(C) Exhibition (D) Art

Out of the four given alternatives,
choose that alternative as your answer
which is similar to the given words.

Lucknow : Mumbai : Kolkata :
(A) Patna (B) Bikaner
(C) Pune (D) Ludhiana

Find out the relationship among these
words and choose another group with
similar relationship from the options
provided.

Furniture : Table : Almirah

(A) Building : Wall : Brick

(B) Fruit: Orange : Apple

(C) Mother : Father : Sister
(D) Sea: Road: City

46.

47.

48.

49.

50.

51.

If B=2 and BAG = 10, then BOX = ?
(A) 36 (B) 39
(C) 41 (D) 52

Find the next alternatives.
AFN, MQZ, CGP, ?

(A) OSB
(B) PUE
(C) MPX
(D) OTC

Complete the following series.
4, 16, 64, 2586, ?
(A) 1304
(C) 1216

(B) 1144
(D) 1024

3.75 _
= —a
(A) 0.005

(B) 0.5

(C) 5

(D) None of these

?

Select the related words from the given
alternatives.

196:169::81:7
(A) 72
(C) 100

(B) 64
(D) 144

Select the one which is different from
the others.

6, 13, 18, 25, 30, 37, 40
(A) 25 (B) 30
(C) 37 (D) 40
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i) AT FgHaT AT ATfehes FrEaT

o féw e e =i qof ==t

80, 10, 70, 15, 60, ?

(A) 20 (B) 25

(C) 30 (D) 50

‘TIH I W HEY qE § R, wm e
1 € gy frea 2 ?

(A) FTmm=m=r  (B) e

(C) wifa (D) 3= HEAT
‘giaet &S HEY RARRY 98, Tt
=1 I8 Toy frmg 2 7

(A) dfem (B) 1

(C) e (D) e

faw o = faskei # @ W@ oo =i 94
it féu o wr=2i = wEE A |
m:ﬁaﬁ:aﬁm:_

(A) 9z (B) R

(C) T (D) fermT

faw v v1eg wyEl ° Gy i 1 3R
Iy fashedl | & gE0 ve T g S
ERE:ELES DI
TR : 29 ; ATHI

(A) fafeen . dam: &=

(B) e : ATl : ¥a

(C) wmar : foem : 787

(D) &HZ : TET : T

46.

47.

48.

49.

50.

51.

e B =2 3N BAG =108, a1 BOX =?

(A) 36 (B) 39

(C) 41 (D) 52

few w1 fershenit & & Fredoge sverl < e
|

TE]..a:r[FN, MQZ, CGP, ?

(A) OSB

(B) PUE

(C) MPX

(D) OTC

el few e e ol |

4,16, 64, 256, 7

(A) 1304 (B) 1144

(C) 1216 (D) 1024

875 _,

0.75

(A) 0.005

(B) 0.5

(C) 5

(D) =9 & #1E 7

fou mmu forepeai | @ weifea fospeT 1 94 |

196:169::81:.7

(A) 72 (B) 64

(C) 100 (D) 144

Fefafaa AT TR g s o & |

6, 13, 18, 25, 30, 37, 40

(A) 25 (B) 30

(C) 37 (D) 40
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52.

53.

55.

-14-

If in a certain language ‘RAMESH' is
written as ‘'HSEMAR’, then how will
‘CREATE’ be written in the language ?

(A) TEACRE
(B) ETAECR
(C) ETAERC
(D) ETACRE

In a certain language ‘THREAT' is
written as ‘RHTTAE’ then how will
‘PEARLY’ be written in that code ?

(A) YLRAEP
(B) YLRPAE
(C) AEPYLR
(D) AEPRYL

If ‘GLOSSORY" is coded as ‘97533562’
and 'GEOGRAPHY’ is coded as
‘915968402', then ‘GEOLOGY’ can be
coded as

(A) 9156927
(B) 9157592
(C) 9057592
(D) 9157591

In a certain code ‘GONE’ is written
as 5 % 2 # and ‘MEDAL' is written as
4 #3 % @, then how will ‘GOLD’ be
written in that code ?

(A) 5@ %3
(B) 5#@ 3
(C) 5% @3
(D) 5% #3

57.

58.

59.

60.

000 000 O O A

P and Q are sisters. R and S are
brothers. P's daughter is R'’s sister,
What is Q's relationto S ?

(A) Mother

(B) Grandmother
(C) Sister

(D) Aunt

Complete the following series.
5,10, 15, 25, 40, ?

(A) 45

(B) 50

(C) 60

(D) 65

Complete the following series.
2,7,14,23, 7,47

(A) 30

(B) 34

(C) 39

(D) 44

Complete the following series.
48, 24,72, 36, 108, ?

(A) 110

(B) 115

(C) 121

(D) 54

Complete the following series.
1,8,7,15,31,7?

(A) 38

(B) 49

(C) 63

(D) 42



52.

53.

55.

-15-

Ifa forelt T d ‘RAMESH' 31 ‘HSEMAR'
foran s 2, & 3&t w91 § ‘CREATE' &t
=1 e smem ?

(A) TEACRE

(B) ETAECR

(C) ETAERC

(D) ETACRE

et ameT # “THREAT &I ‘RHTTAE'
Toran st &, 1 36t 5 § ‘PEARLY” #it
forg werm fomar st 7

(A) YLRAEP
(B) YLRPAE
(C) AEPYLR
(D) AEPRYL

a2 ‘GLOSSORY' #1 %< '97533562' 311
‘GEOGRAPHY’ &1 %2 ‘915968402 2,
a1 ‘GEOLOGY" %1 %2 =1 By ?

(A) 9156927
(B) 9157592
(C) 9057592
(D) 9157591

forelt % W H ‘GONE’ 1 5 % 2 # 3ii
‘MEDAL' %1 4 # 3 $ @ foran strem &, o
‘GOLD’ i 3¢t e w1 & fovm weanm foran
ST ?

(A) 5@ %3

(B) 5#@3

(C) 5% @3

(D) 5%#3

57.

58.

59.

60.
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PIRQIFaeAE IR ST A ¥ |
PHREARFTFRE, AQHF ST TN
TEgE 7

(A) =i

(B) zmEt

(C) =&+

(D) ==

Fafafaa saen &t ol &t |

5, 10, 15, 25, 40, ?

(A) 45

(B) 50

(C) 60

(D) 65

fr=fafea sraen =i g = |

2,7, 14, 23, 2, 47

(A) 30

(B) 34

(C) 39

(D) 44

Frerferfian e 7 i 5t |
48, 24, 72, 36, 108, ?

(A) 110

(B) 115

(C) 121

(D) 54

R sfaren 1 quf 7 |
1,3, 7,115,312

(A) 38

(B) 49

(©) 63

(D) 42
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61.

62.

-16-

Complete the letter number series.
C-2,E-3,G-4,1-5,?

(A) H-6

(B) J-8

(C) K-6

(D) L-7

Complete the letter number series.
D-4G-7,J-10,M-13,?

(A) N-14

(B) O-15

(C) P-11

(D) P-16

Complete the letter number series.
D-23,F-21,H-19,J-17, 7
(A) K—-18

(B) M—-18

(C) O-21

(D) L-15

Find the missing number in the figure.

W | NN =
n|plele(n)w

(A)
(B)

(C)

Ol W N |-

(D)

65.

66.

67.

68.

69.

Find the missing number in the figure.
5|2 |4
4| 4
2|5
18| 30

D |~

(A) 42
(C) 33

(B) 43
(D) 32

In the following sequence of digits, how
many digits are immediately preceded
by a digit which is a multiple of 3 and
immediately followed by a digit which is
a multiple of 4 ?
7324689357843215638
(A) 5 (B) 2

(C) 4 (D) 6

Identify the relationship between the
two numbers in the first pair and find
the missing number in the second pair
also follow the same relationship.
121:169 :: 361 :
(A) 529

(C) 484

(B) 400
(D) 576

In a certain code language, if CEJQ
is coded as XVQJ, then BDIP will be
coded as

(A) WURQ
(B) YWRK
(C) WUPI
(D) YWPI

Which of the following choices will
replace the question mark ?

MILD : NKOH : : GATE : ?
(A) HDVQ
(B) HCWI
(C) IBUP
(D) HDUR



61.

62.

63.

64.
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Frfafian s1er-sis Jaen = gl = |
C-2,E~3,G=-4,1-57?

(A) H-6

(B) J-8

(C) K-6

D) L-7

i 7e-37e e i ol . |
D-4,G-7,J-10,M—-13,?

(A) N—14

B) 0O=15

(C) P—11

(D) P-16

FefeRaa stem—s7e @en =i ol |
D-23,F-21,H-19,J-17,?

(A) K-18

(B) M-18

(C) O—21

(D) L—15

o o fem i Ao s A g |

1

2

~N WM -

o|plwleonw

3

(A)
(B)

(C)

(D)

Nl Bl W D=

65.

67.

68.

69.
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Taw e form o Treefiege S o |
L |
4| 4
2|5
18| 30
(A) 42
(C) 33

olw|~fe

(B) 43

(D) 32

i T & T JEen o e o W E
Toreeh e e 37 8 i1 3 %1 T @ 3R
G UHT 37 8 Sl 4 FI O 7
7324689357843215638
(A) 5 (B) 2

(C) 4 (D) 6
Freafafaa § veeh 2t wemed F geyg =
T IR BW gEd @ HEret 3 e A
e TTfie ek RN HE AT |
121:169:: 361 :
(A) 529

(C) 484

ot fars e s #, @f CEJQ = XvQ
foran st 2, 4 36t %2 % a=a BDIP #
1 T s 7

(A) WURQ

(B) YWRK

(C) WUPI

(D) YWPI

v o 3 v e Referfiam 8 8 -
formpeg g ?

MILD : NKOH : : GATE : ?

(A) HDVQ

(B) HCWI

(C) IBUP

(D) HDUR

(B) 400
(D) 576
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70.

Vi P

72.

73.

If in a certain language ‘SECTOR’ is
written as ‘ESCTOR’, then how will
‘MOTHER' be written in that code ?

(A) MOHTER
(B) OMHTER
(C) OMHTRE
(D) OMTHER

If in a certain code language ‘RAIN’ is
written as ‘8 $ % 6’, 'MORE' is written
as'7 #8 @', then how will ‘REMAIN' be
written in that language ?

(A) 8@7%%6
B) 7T@#%%6
C) #@7%$%6
(D) None of these

If in a certain code language ‘where
are you' is written as ‘pit ka ta’ and ‘are
they there’ is written as ‘sa da ka’ and
‘they may come' is written as ‘da na ja’,
then how will ‘there’ be written in that
language ?

(A) da

(B) sa

(C) ka

(D) none of these

Rashmi is 14" from the right end in a
row of 40 girls, what is her position from
the leftend ?

(A) 25t
(B) 27t
(C) 218t
(D) None of these

74,

75.

76.

77.

78.

79.

80.

Find the next term.

242, 353, 464, 575, ?

(A) 676 (B) 686
(C) 696 (D) 787

Which interchange of signs will make
the following question correct ?

(16-4)x6+2+8=30
(A) +and-— (B) +and x
(C) —and + (D) =and +

Q, the son of M was married to N, whose
sister O was married to P, the brother
of Q. How O is related to M ?

(A) Sister

(B) Daugher-in-law
(C) Sister-in-law
(D) Cousin

‘AB'’ is related to ‘CD’ in the same way
as 'YZ'is related to

(A) AB (B) AC
(C) WX (D) LV

‘Needle’ is related to ‘Thread’ in the
same way as ‘Pen’ is related to

(A) Ink (B) Cap

(C) Paper (D) Word
Find the odd word.

(A) Car (B) Bus

(C) Scooter (D) Jeep
Find the odd word.

(A) Tongue (B) Nose
(C) Eye (D) Mouth



70.

TALE

72.

73.
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afz foret fasiy s & ‘SECTOR’ i
‘ESCTOR’ forar wiman 2, & 3¢t ymy §
‘MOTHER' =i fehm werrt foran simem 7
(A) MOHTER

(B) OMHTER

(C) OMHTRE

(D) OMTHER

Ife et foe 2w § RAIN' =
‘8$ % 6 e s 8, MORE' #1748 @’
Torman st 2, @t 3t wreT § 'REMAIN' 1
Torg weRR feran st ?

(A) 8@7%$%6

B) 7@ #$%6

(C) #@7$%6

(D) 378 @ IS 7&

g foret fasy 5 w1 # ‘where are you’
I ‘pit ka ta’ 37T ‘are they there’ &
‘sa da ka’ @7 ‘they may come’ @t
‘da na ja' fer@r sar 8, o 3€t 9w |
‘there’ =1 T o st 7

(A) da
(B) sa
(C) ka
(D) 39 @ F1g T8l

40 wEfFE 6 vr Ul § 19y e oin
Y 14 3 TH W B, 91 9 37 @ 98 g
o g B ?

(A) 253
(B) 273
(C) 214
(D) 0 & rE Tl

74.

75.

76.

77.

78.

79.

80.
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Frafofaa fowedi # 9 sren e I = |
242, 353, 464, 575, ?

(A) 676 (B) 686

(C) 696 (D) 787

few o g § form sl 1 o &
SEEToR THISROT Sl Gl e ST ST 2 7
(16-4)x6+2+8=230

(A) =3 - (B) + 3N x

(C) -3+ (D) + 3 +

M3 3 Q1 forame N gen &, Nt s/
O fa PH G B, MQF KR |
O % M3 T Teier & 7

(A) ==

(B) 5§

(C) ===

(D) ==T g
‘AB' %1 ‘CD’ § Wil 4siyl & 981 §sig 'YZ'
F fraa g 7
(A) AB

(C) WX

(B) AC
(D) uv

‘GS G Y N G 2 T Gy e
FfrEg g 7

(A) =E (B) &
(C) =rTs (D) I8
FTEA Y768 1 A |

(A) =R (B) =™
(C) &= (D) Sfa
FETA 9158 i T |

(A) Sfw (B) T
(C) i@ (D) He
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iii) Arithmetical and Numerical Ability

1D DO O 0 G 0

-1 7/ I -5 -3
81. Sum of the numbers % and A 'S | 84. Multiplicative inverse of AT
(A) -2 15
(A) =g
2
@ & =5
7 56
©) % i
5
(D) None of these (©) 15
-56
D it
82 \.!alluta‘:zfg><(_—3J—1><§+l><g is Y 18
1 §AX7 0 6 2-14 5
85. Zero has reciprocal.
(A) O
(A) No
12
BhiC (B) One
) 28 )
(C) Two
€) 55t ini
8 (D) Infinite
o) =31
28 86. lfx-2=7,thenx=
6 (A) 5
83. What is the additive inverse of — ?
= (B) -5
6 (C) 9
(A)" =
5 (D) None of these
B —2
8) ) 87. lf6=z+2,thenz=
6 (A) 8
cy =L
5 (C) 2
© =2 D) 4
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i) SteRnTUTE T UE SEaTeTE Araan

81. wemad ~15/ ok 7} wam?
(A) -2

(B) 2
©) 7
(D) 79 § 18 A&l

82. -—X(—]-—-x——+—x— FHH R

g3, 0 1 ARTIEHR S T & 7

(B)
c) &
5

(D)

&l

-21-

84.

85.

86.

87.

—_——

5 -3
g < o e S @
15
56
=15
56
56
15
56
15

(A)
(B)
(€)

(D)

¥ 1 o ©
(A) I3 &
(B) T

(C) =&

(D) ¥

IR x-2=7dAx=
(A) 5
(B) -5
(C) 9
(D) 34 & Frs T

ARe=2z+2Mz=
(A) 8
(B) 4
(€) 2
(D) 4
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88.

89.

90.

o1.

If%:w,thent:
(A) 2
(B) 5

(C) 50
© Y

How many sides does a regular polygon
have if each of its interior angle is

165° ?
(A) 22
(B) 24
(C) 26
(D) None of these

The squares of which of the following is
an odd number ?

(A) 2826
(B) 82004
(C) 7779
(D) 144

Numbers lying between squares of the
numbers 89 and 100 are

(A) 200
(B) 150
(C) 198
(D) None of these

92.

93.

94,

95.

0 OO 0 O 0

Square of the number 71 is
(A) 5131
(B) 4901
(C) 6171
(D) 5041

Smallest square number that is divisible
by 4,9 and 10 is

(A) 625
(B) 900
(C) 1000
(D) 400

31.36 =
(A) 5.6
(B) 4.6
(C) 656
(D) 7.6

The fraction form of the decimal number
0.16is L, . The value of A is

100
(A) 160
(B) 16
(€) 10

(D) 6



88.

89.

90.

91.
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afz Y =10,drt=
(A) 2
B) 5

(C) 50

®) Yo

us wHaTg Frgst Y foRaeht geind 2eft a2
I TeAF HFA:H0 165° & ?

(A) 22
(B) 24
() 26
(D) ¥ & =g e

ffeifiaa & & frae = us fawm @en
87

(A) 2826
(B) 82004
() 7779
(D) 144

99 3fiT 100 % =i % e wweand ¥
(A) 200

(B) 150

(C) 198

(D) ¥ & =rs e

92.

93.

94.

95.

MKG-XXXI/GENDM/1T/04

Ak otk
(A) 5131
(B) 4901
(C) 6171
(D) 5041

4, 9 311 10 @ fasnfora & el T=d 3
o HE ?
(A) 625
(B) 900
(C) 1000
(D) 400

J31.36 =
(A) 5.6
(B) 4.6
(C) 6.6

(D) 7.6

29SS &1 0.16 T RE &g % 2
AFIOF R

(A) 160
(B) 16
(C) 10
(D) 6
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96.

97.

98.

99.

100.

Cube root of 91125 is
(A) 35 (B) 25
(C) 45 (D) 75

pq + pglisa
(A) Monomial
(B) Binomial
(C) Trinomial
(D) None of these

Value of 512 — 492 is
(A) 4 (B) 100
(C) 200 (D) 50

Area of the rhombus whose side is 5¢cm
and altitude 4.8 cm is

(A) 20 cm?
(B) 20.8 cm?
(C) 24 cm?

(D) None of these

-

(A)
(B) 16
(C) 32

(D)

101.

102.

103.

104.

O
(~4)° = (~4)8 =
(A) (43

:
®) 3

(©) (—a)®

o 5

1 micron is equal to
(A) 1078

(B) 1079

(C) 10°°

(D) 1073

4x° - 8x + 4 =
(A) (4x-1)?
(B) (x—4)2

(C) (2x-4)?
(D) 4(x—1)2

How many zeroes are there in the
number one crore ?

(A) 6
B) 7
(C) 8
(D) 9



96.

97.

98.

99.

100.

~25-

91125 HI T 0T &
(A) 35
(C) 45

(B) 25
(D) 75

p%q + pq? 2
(A) THTEE
(B) faudm
(C) Frudl
(D) FH & =rE T

512 - 492 HHF B
(A) 4
(C) 200

(B) 100
(D) 50

gEEgHs F1 Swa Tt e 5 .
S 4.8 WAt R

(A) 20%.t.2
(B) 20.8¢.%.2
(C) 24F.HH1.2
(D) 7 & i &

3 -
® o
(B) 16

(C) 32

(D) 64

101.

102.

108.

104.

MKG-XXXI/GENDM/1T/04
(=4)5 = (-4)8 =

(A) (-4)°

el
.
(—4)°

© o

(B)

(C)

1 AT S 8
(A) 1078
(B) 10°°
(C) 1075

(D) 103

4x%2 —8x + 4 =
(A) (4x—1)2
(B) (x-4)?
(C) (2x—4)?
(D) 4(x-1)?

e e # T A 7
(A) 6
B) 7
() 8
(D) 9
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105.

106.

107.

108.

If two girls each save Rs. 25 every
month. Then how much money is saved
in total every month ?

(A) 50
(B) 25
(C) 100
(D) 75

Triangle A is half of triangle B. Area of
triangle B is 20 sq.cm. Then area of
triangle A is

(A) 20 sqg.cm.
(B) 10 sg.cm.
(C) 15 sqg.cm.
(D) 25 sq.cm.

Number of zeroes in three hundred
million is

(A) 8

(B) 9

(C) 10

(D) 11

At which place does digit O lie in the
decimal 781.032 ?

(A) Thousandths
(B) Hundredths

(C) Tenths

(D) None of these

108.

110.

111.

112.

What is the Hindu-Arabic equivalent of
MMMDXXI ?

(A) 3141
(B) 3221
(C) 3341
(D) 3521

How can the number 456 be written
using Roman numerals ?

(A) CDLVI
(B) CCLVI
(C) DCLVI
(D) LDXVI

Tarun bought 1670 pens and Arun
bought 1850 pens from a whole seller.
What is total number of pens bought by
them ?

(A) 3520

(B) 3420

(C) 3320

(D) 3120

Which of the following expressions is
equal to the sum of 815 and 1010 ?

(A) 800 + 995

(B) 900 + 1100
(C) 830+ 1025
(D) 825 + 1000



105.

106.

107.

108.

“27-

Ife 3t Srefrat wiemme T @ 25 %. s
8 | o wfmre Fe fraa e w=a 2 7

(A) 50
(B) 25
(C) 100
(D) 75

Brqs A Py B emn ® | Bym B
g% 20 3 S R | @ Bryw A =

EER TSR

(A) 203 F ..
(B) 10 a0 & 4.
(C) 15 & .
(D) 25t & .

i 4t faferm o v i e #
(A) 8
B) 9
(C) 10
(D) 11

IS 781.032 1 315 0 o w1 ot 315
27

(A) TR
(B) d%er
(C) ==r
(D) ¥ 8 s 78

109.

110.

111.

112.

MKG-XXXI/GENDM/1T/04

MMMDXX| 1 fég- swaft Tmges #m & 7
(A) 3141
(B) 3221
(C) 3341
(D) 3521

TN 371 1 SN T ST 456 i Fd
T snaFa e ?

(A) CDLVI
(B) CCLVI
(C) DCLVI
(D) LDXVI

U i fafshar & 9801 3 1670 U9 3R 3501
4 1850 ¥H @Y | 39 AT WS MU U=
#1 Fe TE F R 7

(A) 3520

(B) 3420

(C) 3320

(D) 3120

Tt 8 g s9-H sifsafw 815 3it

1010 % I % WL 2 7
(A) 800 + 995
(B) 900+ 1100
(C) 830+ 1025
(D) 825 + 1000
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113.

114,

115.

116.

What is the number of even factors of
78 7

(A) 4
(B) 5
(C) 6
(D) 7

The five digit number 358 _ 1 will be
divisible by 3 if the blank space is

(A) 0
(B) 1
C) 2
(D) 8

Which of the following numbers is not a
multiple of 13 7

(A) 39
(B) 52
(C) 63
(D) 78

What is the second smallest common

multiple of the numbers 3, 6 and 12 ?
(A) 3

(B) 6

(C) 12

(D) 24

4%

118.

119.

120.

Which of the following number is not a
multiple of 6 ?

(A) 72
(B) 84
(C) 138
(D) 176

What is the LCM of 13 and 19 ?
(A) 189
(B) 247
(C) 265
(D) 312
Fill in the blanks.
13 60

79 79
(A) <

B) >
C) =
(D)

IA

What is the decimal form of the fraction

18
25 7

(A) 0.52
(B) 0.72
(C) 0.18

(D) 0.25



(0 O O A O

113. 78 % &¥ 0 Gl il T =S ?
(A) 4
(B) 5
(C) 6
(D) 7

114. i 37! 6 931 358 _ 1, 3 8 faursy

Bt I e o B
(A) 0
B) 1
©) 2
(D) 3

115. Fefofaad a se-f = 371 o=

O TR R 7
(A) 39
(B) 52
(C) 63
(D) 78

116. &A1 3, 6 31 12 =1 IHT T BIE
FHIIGAS 7 & 7

(A) 3
(B) 6
(C) 12
(D) 24

117.

118.

119.

120.

MKG-XXXI/GENDM/1T/04

Frafefaa @ & Fm-w1 6 %1 v o 7
27

(A) 72
(B) 84
(C) 138
(D) 176

13 19F FaIFTE 7
(A) 189
(B) 247
(C) 265
(D) 312

13
79
(A) <

60 ;
;g—ﬂaam:mil

(B) >
C) =
(D) <

i 18/, 1 avmem wa 7 2 7
(A) 0.52
(B) 0.72
(C) 0.18

(D) 0.25
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121.

122.

123.

124.

125.

126.

-30-

iv) Hindi Language and Comprehension

2 s s Ay

ﬁ‘;ﬁ“ﬂﬁélﬁﬁm 127. fea =@ FEAETE |

' (A) =T
(A) Forprt (B) e (B) wehE
(C) waT™ (D) 37 @ I3 7 (©) =2
‘7o oI g & PreR-seR o Fen (D) fefd
:fiﬁ 128. QA AT I H sireht ST relt W
®) T ikl
(C) Fde :g; zm%['lg T

: oreT
(D) T | his 7= o Sy
R amAfm R RE? (D) 3wirE gt
GG

:g; 3 129, =il Gl
(C) =W (A) Emmw (B) Tafirdt
(D) W (C) T (D) Faret
‘sl = g w9 A 130. vomeft s - fofdy o foveh vt 2
(A) YEeEN (B) se&H (A) TEFEl (B) AT
(C) s (D) T8 & 7 (C) T (D) e
— 131. ‘myt’ i IavEer @
TR F I TG &
(A) @t (A) wedm
(B) @it (B) WYTE
(C) @& (C) wgtH
(D) & & sgar= & (D) wmedt
FrfaRad § & FF-f TeamsEm e 7 | 182 A s 1 fawim 2
(A) Hua (A) T
(B) s (B) =t
(c) fimg () mifes
(D) =g (D) HrEq
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133.

134.

135.

136.

137.

138.

-31-

Torg T & e P 2 7

(A) TN T @R |

(B) TR TGS @A ® S |

(C) FTelt 3 SIwTed! & 1 GHiet |
(D) YA THA UG TR |

Y& ¥1o8 %1 =4 e |
(A) SraTee

(B) TRuraeft

(C) Teumaneit

(D) T8 @ g TE

YIS 19 1 991 FIf |
(A) =r==1®a WY fw m= |
(B) et HL foamsit 3 s 2 |
(C) T =i @FT & @ |
(D) Tl =mH g i 2 |

T SFfaaaT=e Uy I8 T8 &
(A) T
(B) fuam
(C) TS
(D) feeeft

‘efert’ A ST OIS | WEifeRd Y1ee & o
AT |

(A) gfem

(B) Ehfem

(C) 3wIfT

(D) 378 & 15 &I

IR YT58 THR i Esiear sarar &
(A) |

(B) wm&HH

(C) ferm

(D) H © IS eI

138.

140.

141.

142.

143.

MKG-XXXI/GENDM/1T/04

et foreeft gt 18 | fero wiss
59 i |

(A) FHTe]

(B) Tereett

(C) g4

(D) g

T BRI ®
(A) Sae
(B) 3R
(C) JaH

(D) = & s 7=

e SR WH §9 Y @ 8 S © ad 98
T = <t 8

(A) TETEEH

(B) req fermm

(C) i form

(D) T § HiE AL

T Sirel = =g it i feim v e
2

(A) FEf x 3@t

(B) HTAT x A%

(C) & x =

(D) 3SITEAT x J=h19T

TR T 9158 &
(A) =&t
(C) =

(B) et
(D) 4
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144, 30 faesfi wea 2
(A) w4
(B) #is
(C) it
(D) sy

145. 3 @ for wse 2
(A) Tergro
(B) Terenfasiyu

(C) Eg==gaIgS
(D) TEErEnfeeyus

146. §: + HIEH =
(A) ZETEd
(B) THRH
(C) swmEd
(D) T=TEd
147. d=Ed
(A) i e & forers (srgefif)
(B) T i = (FHeH)
(C) = =t =1 wwg (gfe)
(D) 9= % fom ae (dcqem)
148. TTSIHEH U WoH TN &
(A) HfFaaras
(B) Sifdaras
(C) wrEaT=H
(D) wHEaTEH

149.

150.

151.

152.

T IR A
(A) T

(B) wal

(C) wmemd

(D) wwTE

U 91 W @ W awa | wEife
ETH 3158 1 HE T3y |

(A) Frvagams

(B) A v=agams

(C) FsmEr==

(D) TENaT=H
‘ST 1 S ®9 2
(A) eI

(B) AT

(C) =yeafish

(D) T & IS TE

T ifo |

o

A i i i v
® i v i i
© i v i i

@) i i v



153. foem Hifse |
a. ufd i.
b. 9% i, Tedt
c. M iii. wfeEh
d. Ia% iv. Jadt
a b c d

(A) i iii i iv
B) i i v i

C) i ii i v
(D) i i i iv

154. oo ifsa |
a. el i. T
b. 7= i. oS
c. areln iii. et
d. @ iv. A
a b c d
(A) i i v i

B) @i v Qi
(C) i i v i
D) i i i v

155. oo Fifsm |
a. I i. gfe
b. =T i, aHET
c. g« iii. =9
d. g iv. Wehe
a b ¢!’ d
(A) i iii i iv

(B) i iii v i
C) v i i i
(D) i v i

156.

157.

158.

159.

160.
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- Y12 FHIT FgaE H SR SR © ¢
(A) g

(B) 31g,

(C) wfF

(D) 7

et fre w8 7
(A) 10
(B) 9
C) 7
(D) 8

fashi m FagaTA TR
(A) Tasfar

(C) @™

(D) ¥ & 1S 7l
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v) English Lapguage and Comprehension
ST ATeT 3R Y

Identify the part of speech of the underlined
words from among the choices given below
each sentence.

161. Akbar was a great king.
(A) Noun

(B) Pronoun

(C) Adijective

(D) Verb

162. He worked the sum quickly.
(A) verb

(B) adverb

(C) adjective

(D) pronoun

163. The girl wrote a letter to her cousin.
(A) adverb

(B) adjective

(C) interjection

(D) verb

Choose the correct word from among the
choices and compute the sentence.

164. The apples are rotten. have

to be discarded.
(A) It

(B) They

(C) |

(D) Them

165. He shot

(A) yourself
(B) ourself
(C) himself

(D) himselves

R 0 OO O 0 OO 0 0
166. God helps those help
themselves.
(A) who (B) whom
(C) whose (D) what

Fill in the blanks with appropriate articles from
among the choices given below them.

167. You can see
clearly from this spot.

(A) an
(B) a
(C) the
(D) none of these

horizon

168. If you were

would treat you well.
(A) a

(B) an

(C) the

(D) no article required

princess, they

169. Isit
(A) a

(C) the

honorary position ?
(B) an
(D) none of these

Fill in the blanks with appropriate prepositions
from the alternatives given below them.

170. She tripped as she walked
the stairs.

(A) down
(B) of
(C) in
(D) at
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171. Mitra is fighting for the rights Fill in the blanks with appropriate adverbs from
the villagers. among the choices given below them.
(A) of
(B) off 176. Heis happy.
(C) for (A) very
(D) since (B) much
172. A couple of policemen were ()00
his door to provide security. (D) more
(A) in
(B) from 177. Heruns __ faster than |.
(C) at (A) very
(D) on (B) much
(C) more
Fill in the blanks with suitable conjunctions from (D) too
among the choices given beiow them.
173. Hesellsmangoes __ oranges. | 178. Itis hot to go outside.
(A) but (A) too
(B) and (B) very
(C) or (C) more
(D) though (D) none of these
174. Itis raining, | cannot go to
school. Find out the wrongly spelt word from the
(A) therefore options/choices given in each question.
(B) because
(C) as 179. (A) dispose
(D) since (B) dipose
(C) demote
175. He tried often, he could not (D) denote
pass.
(A) although 180. (A) pretence
(B) though (B) offence
(C) still (C) dence
(D) none of these (D) deference
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181. (A) altogether

(B) alrigt

(C) almighty

(D) allottee

Choose the correct synonyms of the words
underlined from the alternatives given below
them.

182. Some youngsters like wearing gaudy
clothes.

(A) light coloured
(B) heavy
(C) costly
(D) bright coloured

183. The youngster escaped with a light

penalty.

(A) imposition
(B) punishment
(C) reward
(D) warning

184. The guilt of the thief was evident on his

face.
(A) seen (B) written
(C) clear (D) hidden
Fill in the blanks with the antonyms (opposite in

meaning) of the words underlined from among
the choices given below them.

185. The more our spending increases the
more our savings
(A) decreases
(B) raises
(C) hikes
(D) enhances

186. In business sometimes profit and
are two sides of the same
coin.
(A) income (B) earning
(C) gain (D) loss
187. Good times can turn into
times within no time.
(A) fortune
(B) bad
(C) best
(D) great

Fill in the blanks in the following sentences with
the correct forms of the words given in brackets
from the alternatives given below them.

188. The huge fort was
safety. (construction)

(A) construct
(B) constructs
(C) constructed
(D) construction

for

189. The tourist wandered in
the beach. (aimless)

(A) aimless

(B) aimlessly

(C) less aim

(D) none of these

190. During winter the mountain peaks

are covered with snow,
(complete)

(A) complete
(B) completed
(C) completely
(D) completingly
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Fill in the blanks choosing the appropriate
words from the alternatives given below each
sentence.

191.

192.

193.

Mother Teresa had to take

VOWS.
(A) four (B) fore
(C) flour (D) none of these

He is well known for his sessions on

guidance.
(A) Career (B) Carrier
(C) Kereer (D) Careur

The new law will affect the
country.

(A) whole

(B) hole

(C) hall

(D) none of these

Identify the tense forms given below sentences.
Choose the right answer from the alternatives
given below each sentence.

194.

195.

-37-

Tom works hard.
(A) Past Tense
(B) Future Tense
(C) Present Tense
(D) None of these

Tom worked hard.
(A) Past Tense

(B) Present Tense
(C) Future Tense
(D) None of these

196.
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| was loving.

(A) Past Perfect Tense

(B) Past Continuous Tense

(C) Present Tense
(D) Future Tense

Fill in the blanks with right adjectives from
among the options given below them.

197.

198.

199.

200.

We do not sell
of sugar.

(A) few
(B) fewer
(C) less
(D) little

He taught us
(A) much
(B) many
(C) more
(D) any

He spent only
himself.

(A) alittle
(B) few

(C) afew
(D) fewer

Did you have
finding the house ?

(A) more
(B) some
(C) many
(D) much

than five kilos

new things.

money on

difficulty in
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SPACE FOR ROUGH WORK

TF HTE & foru T

-38-
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SPACE FOR ROUGH WORK

T w1 o Toru zom=

-39-
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IMPORTANT INSTRUCTIONS TO CANDIDATES
Iafigani & forn wewagul srEw

13.

14.

15.

) I

18.

19.

This booklet contains 40 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question orcompletes the
statement and blacken (®) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method

0& 00

Wrong Method

0800

Wrong Method || Correct Meth

0®00|I0e00

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (@) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
inthis Booklet. All answers must be indicated
in the Answer Sheet only.

13.

14.

15.

16.

17.

18.

19.

(R0 50 0 A I 0
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T 7! forell W 1 g1 R S 9T 1 FE I
2 a1 FHF H G Ht I AH! Il |
I R @ A, B, C A1 D =i =fien 71 e
|A-Uls= U9 | Fe (@) F 2 | (FFeattm
sefteant & fae @ maen fEfus g
e feran )

T W o A 3 g W e e S
I ford | 99 = o = wm B e
Tereifera = = ol w9 fo 2

e Al || Tem aten| et s || At
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aneff =i 1 IR e | e I
fafea =t =nfzw |
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e wiem 374fq A, B, C 1 D & Tiemsr @
% FIeT (@) F & | 7fe 3 foredt g & anm
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T I BET SR |

afg felt ww & fe=dt oo Sash srawe o +i
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Fed FH & 0 Haw WA o 1 fou ™ wum W
AN L | IR YfEaH W Fod HE T

39 gferen & 3 SRt IR aifeRa TE WA E |
TR FaA I Ui | A 3

Go through instructions given in Page No. 1 (Facing Page)




